  is  because half of  is  and half of  is               ____________________
	1. The patient’s original weight was 180 pounds. The patient gained 16⅔% of their weight. How many pounds did they gain?

	2. The mutual fund has 83⅓% of its money invested in NYSE stocks. They have $6,000,000 invested. How much is invested in NYSE stocks?

	3. Phil's taxable income is $24,060. His tax rate is 16⅔%. What does he pay in tax?

	4. This year's expenses are 116⅔% of last year's expenses. Last year expenses were $540. What are expenses this year?

	5. 12 is __% of 72

	6. 1000 is __% of 1500

	7. 75% of 48 = ___

	8. The prison is at 110% of capacity. Normal capacity is 500. How many prisoners are there?

	9. 160% of 450 is what number?

	10. If 66⅔% of the students have a smart phone and there are 6000 students, how many have a smart phone?
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